B PATENTED
SYSTEMS
INC.

SECTION B

GOOD PRODUCT FOR GOOD PEOPLE SINCE 1980

Type B: Manufacturer’s Designated Supplier

These parts are bought from the 0. E. M.’s vendor. Examples of these items are Hale Hamilton valves,
Pyropress switches, Stitt igniter plugs, and Worcester ball valves. These parts come with inspection
and test certificates where appropriate.

25923 TINA LANE « KATY TX 77494
www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

FILTER #010-573-411 ¢

Part Number Description Qty. In Stock

#010-573-411 FILTER, ELEMENT 5

4 BANJO #012142

#012142 BANJO, 3/8" 7

#012143 BANJO, 1/2" 10

BANJO SCREW #012243 ¢

Part Number Description Qty. In Stock

#012243 SCREW FOR BANJO, 3/8” BSP 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ VALVE #017001

Part Number Description Qty. In Stock

#017001 VALVE, FULL WAY, 1/2" BSP 3

OIL SEAL #020410 ¢

#020410 SEAL, OIL, 5/8" 20

#020424 SEAL, OIL, 1-1/8" 10

¢ BALLBEARING #024106

Part Number Description Qty. In Stock

#024106 BEARING, BALL, 1-1/8" 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

TAB WASHER #024801 ¢

Part Number Description Qty. In Stock
#024801 TAB WASHER, STRAIGHT, 2 BA 19
#024802 TAB WASHER, STRAIGHT, 1/4” 396
#024803 TAB WASHER, STRAIGHT, 5/16” 162
#024804 TAB WASHER, STRAIGHT, 3/8" 250
#024805 TAB WASHER, STRAIGHT, 1/2” 63
#024806 TAB WASHER, STRAIGHT, 5/8” 57
#024807 TAB WASHER, STRAIGHT, 3/4” 95
#024903 TAB WASHER, 90 RIGHT, 5/16” 89
#024905 TAB WASHER, 90 RIGHT, 1/2" 25
#024952 TAB WASHER, 90 LEFT, 1/4” 8
#024954 TAB WASHER, 90 LEFT, 3/8” 50

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

= Q) /// ¢ S.O.V.KIT #03820NN

Part Number Description Qty. In Stock
#03820NN KIT, S.0.V. SPARES 2

VACUUMKIT #06705VV &

#06705VV KIT, VACUUM S.0O.V. SPARES 3
OO ¢ S.O.V.KIT #07880VV
= r-Ye

#07880VV KIT, S.0.V. SPARES 2

SPARESKIT #08988VV & OOG |
¥ O B

#08988VV KIT,SPARES 64/6007063/1,2,3 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

ELBOW #037904 ¢

Part Number Description Qty. In Stock

#037904 ELBOW, 1/4" TUBE X 1/8 BSP 200

¢ NUT #039004

Part Number Description Qty. In Stock
#039001 NUT, 3/16” TUBE ERMETO 33
#039002 NUT, 1/4" TUBE ERMETO 47
#039004 NUT, 3/8" TUBE ERMETO 0
#039006 NUT, 1/2" TUBE ERMETO 3
#039007 NUT, 5/8" TUBE ERMETO 8

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ SEALINGRING #039104

| ——

Part Number Description Qty. In Stock
#039102 SEALING RING, 1/4” TUBE 23
#039104 SEALING RING, 3/8”" TUBE 79
#039106 SEALING RING, 1/2”" TUBE 8
#039107 SEALING RING, 5/8”" TUBE 22
#039108 SEALING RING, 3/4”" TUBE 22
#039109 SEALING RING, 7/8" TUBE 31
#039110 SEALING RING, 1" TUBE 14
#039112 SEALING RING, 1-1/2" TUBE 50

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

STRAIGHT COUPLING #039302 L 4

Part Number Description Qty. In Stock
#039202 COUPLING, STRAIGHT, 1/4" TUBE 15
#039204 COUPLING, STRAIGHT, 3/8”" TUBE 19
#039207 COUPLING, STRAIGHT, 5/8” TUBE 0
#039208 COUPLING, STRAIGHT, 3/4” TUBE 7
#039210 COUPLING, STRAIGHT, 1"TUBE 82
#039211 COUPLING, STRAIGHT, 1-1/4"TUB 16
#039212 COUPLING, STRAIGHT, 1-1/2" TUB 21

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

SYSTEMS

P/l PATENTED
INC.

| 4 SADDLE BOSS, #039302

Part Number Description Qty. In Stock
#039302 SADDLE BOSS, 1/4" TUBE 2
#039304 SADDLE BOSS, 3/8”" TUBE 24
#039307 SADDLE BOSS, 5/8”" TUBE 22
#039309 SADDLE BOSS, 7/8”" TUBE 18
#039312 SADDLE BOSS, 1-1/2” TUBE 11

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494

www.patented-systems.com P 281-352-8588

F 501-694-3080



-4

COUPLING #039408 ¢

B PATENTED
SYSTEMS
INC.

www.patented-systems.com

Part Number Description Qty. In Stock
#039402 COUPLING, 3/176 TUTO 1/4 BSPM 16
#039403 COUPLING, 1/4TUTO 1/8 BSPM 179
#039405 COUPLING, 1/4TUTO 3/8 BSPM 11
#039408 COUPLING, 3/8 TUTO 1/4 BSPM 12
#039409 COUPLING, 3/8TUTO 3/8 BSPM 10
#039410 COUPLING, 3/8TUTO 1/2 BSPM 0
#039412 COUPLING, 1/2TUTO 1/4 BSPM 5
#039413 COUPLING, 1/2TUTO 3/8 BSPM 0
#039415 COUPLING, 1/2TUTO 3/4 BSPM 11
#039416 COUPLING, 5/8 TUTO 1/2 BSPM 10
#039419 COUPLING, 3/4TUTO 1/2 BSPM 12
#039420 COUPLING, 3/4TUTO 3/4 BSPM 2
#039422 COUPLING, 7/8 TUTO 3/4 BSPM 1
#039423 COUPLING, 7/8 TUTO 1" BSPM 14
#039428 COUPLING, 1-1/4TUTO 1” BSPM 17
#039430 COUPLING, 1-1/4TU 1-1/2 BSPM 15
#039431 COUPLING, 1-1/2TU 1-1/4 BSPM 7
#039432 COUPLING, 1-1/2TU 1-1/2 BSPM 15
#039433 COUPLING, 5/8 TUTO 5/8 BSPM 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ COUPLING #039501

Part Number Description Qty. In Stock
#039501 COUPLING, 3/16 TUTO 1/8 BSPF 16
#039502 COUPLING, 3/16 TUTO 1/4 BSPF 21
#039503 COUPLING, 1/4 TUTO 1/8 BSPF 17
#039508 COUPLING, 3/8 TUTO 1/4 BSPF 4
#039509 COUPLING, 3/8 TUTO 3/8 BSPF 22
#039510 COUPLING, 3/8 TUTO 1/2 BSPF 12
#039513 COUPLING, 1/2TUTO 1/4 BSPF 20
#039514 COUPLING, 1/2TUTO 1/2 BSPF 18
#039516 COUPLING, 5/8 TUTO 1/2 BSPF 12
#039519 COUPLING, 3/4TUTO 3/4 BSPF 25
#039521 COUPLING, 7/8 TUTO 3/4 BSPF 20
#039522 COUPLING, 7/8 TUTO 1" BSPF 24
#039524 COUPLING, 1”TUTO 1” BSPF 18
#039526 COUPLING, 1-1/2TU 1-1/2 BSPF 23

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
SYSTEMS
INC.

ELBOW #039604 ¢

www.patented-systems.com

Part Number Description Qty. In Stock
#039604 ELBOW, 3/8”" TUBE 7
#039606 ELBOW, 1/2”" TUBE 19
#039607 ELBOW, 5/8”" TUBE 2
#039608 ELBOW, 3/4" TUBE 17
#039609 ELBOW, 7/8”" TUBE 2
#039611 ELBOW, 1-1/4" TUBE 10
#039612 ELBOW, 1-1/2" TUBE 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494

www.patented-systems.com

P 281-352-8588

F 501-694-3080




B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ TEE #039702

Part Number Description Qty. In Stock
#039702 TEE, 1/4" TUBE 29
#039704 TEE, 3/8”" TUBE 5
#039708 TEE, 3/4" TUBE 20
#039709 TEE, 7/8”" TUBE 24
#039710 TEE, 1" TUBE 4
#039711 TEE, 1-1/4" TUBE 20
#039712 TEE, 1-1/2" TUBE 8
#039713 TEE, 2" TUBE 25
#039720 TEE,1/4X1/4X 3/16 TUBE 17
#039725 TEE,5/8 X5/8 X 1/2 TUBE 11

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

BULKHEAD #039802 ¢

Part Number Description Qty. In Stock
#039802 BULKHEAD, 1/4”" TUBE 20
#039806 BULKHEAD, 1/2” TUBE 27
#039807 BULKHEAD, 5/8” TUBE 21
#039808 BULKHEAD, 3/4” TUBE 23
#039809 BULKHEAD, 1" TUBE 22
#039810 BULKHEAD, 7/8” TUBE 24
#039811 BULKHEAD, 1-1/4" TUBE 21

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ BANJO #039825

Part Number Description Qty. In Stock
#039825 BANJO, 3/8 TUBE, 1/4 BSP 0
#039829 BANJO, 1/2" BSPTO 1/2”" TUBE 17
#039830 BANJO, 5/8 TUBE, 1/2 BSP 0
#039832 BANJO, 3/4TUBE, 3/4 BSP 4
#039833 BANJO, 7/8 TUBE, 3/4 BSP 17

SIGHT GLASS #1196-01 ¢

Part Number Description Qty. In Stock

#1196-01 GLASS, SIGHT 3

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

GAUGE #1279SS-XPD-04L ¢

Part Number Description Qty. In Stock

#1279SS-XPD-04L GAUGE,PRESSURE 0-100 PSIG 1

¢ OILSEAL #1751SB

#1751SB OIL SEAL 2

ASSEMBLY #202/VN-011 &

#202/VN-011 ASSEMBLY, BY-PASS 7

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ SPRING MECH. #202/VP-002

Part Number Description Qty. In Stock

#202/VP-002 EXT. TORSION SPRING MECH. 1

RESET ASSEMBLY #202/VV-013 L 4

#202/VV-013 ASSEMBLY, RESET 3

¢ DRIVE SHAFT #20BM-399A

#20BM-399A BEARING, REAR, DRIVE SHAFT 5

DRIVE HOUSING #20BM-6-2S ¢

#20BM-6-25S BUSHING, DRIVE HOUSING 6

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

KEY #20BM-610 4
Part Number Description Qty. In Stock
#20BM-610 KEY, DRIVE SHAFT, 7/8 LG X 3/8 9

¢ WASHER #20BM-7

#20BM-7 WASHER, DRIVE SHAFT THRUST 7

DRIVE SHAFT #20BM-8B ¢

#20BM-8B SHAFT, DRIVE 2

¢ GEAR #20BMA-9A

#20BMA-9A GEAR, AIR START 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

B PATENTED
SYSTEMS
INC.

l ¢ ACTUATOR REPAIR KIT #20RK39
Part Number Description Qty. In Stock
#20RK39 KIT,REPAIR, ACTUATOR 1

TAB WASHER #215-66 ¢

#215-66 WASHER, TAB 11

‘ ¢ O-RING #229005-126

#229005-126 O-RING, PORT FOR L15 LUB. 4

ACTUATOR REPAIRKIT #25RK39 ‘O

#25RK39 KIT,REPAIR,ACTUATOR 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

HUB #32426-4-321 ¢

Part Number Description Qty. In Stock
#32426-4-321 HUB, 1-3/8” BORE 1
#32462-2-568 HUB, 1-1/4”" BORE 2

¢ SWITCH #404P-1-3-3-1

#404P-1-3-3-1 SWITCH,PUSHBUTTON OPERATOR 2

BEARING #5099833 &

#509983 BEARING, SPHERICAL 7

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ WASHER #5244-22

Part Number Description Qty. In Stock

#5244-22 WASHER, LOCKING 78

SCREW #5333-159 ¢

#5333-159 SCREW, COUNTERSUNK 71

¢ SPRING #5549-253A

#5549-253A SPRING 38

PRESSURE PLATE #5549-38A ¢

#5549-38A PLATE, PRESSURE 217

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. ’ '

COIL #5549-964 ¢

Part Number Description Qty. In Stock

#5549-964 CONTACTOR, COIL, TE 10

¢ BUSH #5587-13A

#5587-13A BUSH 17

PLATE #5617-346 ¢

#5617-346 PLATE, SUPPORT 123

¢ NUT #5617-83A

#5617-83A NUT, CLUTCH STOP 10

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ INNER #5617-86C

Part Number Description Qty. In Stock

#5617-86C RACE, INNER 4

PLATE #5617-87 &

#5337-42 PLATE, LOCKING 125

¢ SPRING #5617-89A

#5617-89A SPRING 12

SPRING #5617-90A ¢

#5617-90A SPRING, PRESSURE 13

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

RING #5936-302 ¢

Part Number Description Qty. In Stock

#5936-302 RING, SEALING S724 STARTER 30

¢ BRUSHESKIT #6068-24

#6068-24 KIT, BRUSHES 7

SPRING #64/05010022/1A &

#64/05010022/1A SPRING, STEEL 1

¢ PUMP #64/05010032/3

#64/05010032/3 PUMP, LUBE OIL (TE-05010F) 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

€  FILLER #64/05012009/1

Part Number Description Qty. In Stock

#64/05012009/1 CAPS, LUB OIL FILLER 2

FILTER #64/07001031/4

#64/07001031/4 FILTER 1

¢ MOTOR #64/07001033/1

#64/07001033/1 MOTOR, SPEEDER, FLP 1

CIRCUIT BREAKER #64/07001200/3 ¢

#64/07001200/3 CIRCUIT BREAKER 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. :

SWITCH #64/07004016/2 &

Part Number Description Qty. In Stock
#64/07004016/2 SWITCH,ROTARY, 4 POSN ON/OFF 1
i » ¢ SWITCH #64/07004016/5
~
#64/07004016/5 SWITCH, ROTARY 5

SWITCH #64/07004048/1 ¢

#64/07004048/1 SWITCH, 3-30PSI 2

¢ SWITCH #64/07004049/1

#64/07004049/1 SWITCH, PRESSURE 11

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ MICROSWITCH #64/07004134/1

Part Number Description Qty. In Stock

#64/07004134/1 MICROSWITCH 4

MICROSWITCH #64/07004134/2 ¢

#64/07004134/2 ASSY,MICROSWITCH,2EX1 0

¢ SWITCH #64/07004168/2

#64/07004168/2 SWITCH, PRESSURE 10-110PSIG F 1

SWITCH #64/07004281/1 &

#64/07004281/1 SWITCH, PRESSURE 4

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

; X
ACTUATOR #64/07007008/5 & %

Part Number Description Qty. In Stock

#64/07007008/5 ACTUATOR 21

¢ CAP #64/07007008/6

#64/07007008/6 CAP (BLACK) 1

%
DIODE #64/07010018/1 ¢

#64/07010018/1 DIODE, BY-133 56

¢ GLAND #64/07010099/2

#64/07010099/2 GLAND, HAWKE 25MM 7

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ RELAY #64/07011024/18

Part Number Description Qty. In Stock

#64/07011024/18 RELAY, TIMING 1

RELAY #64/07011024/22 ¢

#64/07011024/22 RELAY, AGASTAT TIMING 1

¢ AGASTAT #64/07011024/3

#64/07011024/3 AGASTAT 24VDC,70120ET 1

RELAY #64/07011024/7 &

#64/07011024/7 RELAY, TIME DELAY 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. o

CONTACTOR #64/07011041/3 ¢

Part Number Description Qty. In Stock

#64/07011041/3 CONTACTOR 1

4 CONTACTOR #64/07011044/1

#64/07011044/1 CONTACTOR,24VDC,SIEMENS 2

GAS MOTOR #64/07014001/1 ¢

#64/07014001/1 GAS MOTOR, ROTARY VANE 1

4 LUBRICATOR #64/07101013/1

#64/07101013/1 LUBRICATOR, 1-1/2" BSP 1

#64/07101013/2 LUBRICATOR, 3/8”" NPT 15

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ INVERTER #64/51001045/1

Part Number Description Qty. In Stock

#64/51001045/1 INVERTER, CONVERTER 1

COIL #64/51001096 ¢

#64/51001096 COIL, BOOSTER - WIPAC 0

¢ TRIP AMP. #64/51001120/3

#64/51001120/3 KOMPAC/1 TRIP AMP. MK. Il 1

VALVE #64/60020020/2 &

#64/60020020/2 VALVE, FIRE SAFE BALL 21

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
SYSTEMS
INC.

www.patented-systems.com

f\.f\\
/\\\/\/é
(D

REPAIRKIT #64/60020020/3 ¢ <(E @ 8
Part Number Description Qty. In Stock
#64/60020020/3 KIT,REPAIR 64/60020020/1 1-1/2 2
#64/60020020/4 KIT,REPAIR 64/60020020/2 2IN 7
¢ INSERT #64/60030022/8
#64/60030022/8 DIAPHRAGM,INSERT 4
#64/60030022/9 DIAPHRAGM,INSERT 4

VALVE #64/60040063/13 &

#64/60040063/13

SLAM SHUT VALVE 2 INCH: SINGLE ORKIT

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ REGULATOR #64/60050015/3

Part Number Description Qty. In Stock

#64/60050015/3 REGULATOR, MAIN GAS 3

CONTACTOR #64/60060048/1 L 4

#64/60060048/1 COUNTER, HOURS 1

¢ PANEL #64/60060088/1

#64/60060088/1 METER, DIGITAL PANEL 1

#64/60060088/2 METER,TB-5000,DIGITAL,CHASSIS 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. —

VALVE #64/60070035/1 h

Part Number Description Qty. In Stock

#64/60070035/1 VALVE, SOLENOID 1

¢ VALVE #64/60070112/2

#64/60070112/2 VALVE, SOLENOID 10

GEAR #64/62001061/6 ¢

#64/62001061/6 GEAR, IDLER ASSY.,INTERMEDIATE 2

¢ COUPLING #64/62002037

#64/62002037 COUPLING, FLEXIBLE 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ RINGS #64/62002037/3

Part Number Description Qty. In Stock

#64/62002037/3 RINGS, LARGE AND SMALL BOLT 17

FENAFLEX #64/62002037/4 @

#64/62002037/4 FASTENERS, FLYWHEEL, FENAFLEX 13
B
g -‘ \ & COUPLING #64/62002073/4

#64/62002073/4 ELEMENT, COUPLING 1

COUPLING #64/62002108/2 &

#64/62002108/2 ELEMENT, COUPLING FENAFLEX 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

NUT #A100029-3 ¢

Part Number Description Qty. In Stock
#A100029-3 NUT, STAYRITE 1
#A100036-14 NUT, STAYRITE 8
#A100036-7 NUT, STAYRITE 8

¢ SPRINGRING #AX-712563

Part Number Description Qty. In Stock

#AX-712563 SPRING RING 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
_ — 1)\ [0

¢ BOLT #B15604-3

Part Number Description Qty. In Stock
#B15604-3 BOLT, SPECIAL FITTING 8
#B15604-4 BOLT, SPECIAL FITTING 8

“O” RING #C6435323 ¢

Part Number Description Qty. In Stock
#C6435323 “O"” RING, SPIGOT 64/60040047/3 10
#C6435344 “O" RING, PLUG 64/60040047/3 10

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



TABWASHER #CT-130A/1

B PATENTED
SYSTEMS
INC.

2

www.patented-systems.com

Part Number Description Qty. In Stock
#CT-130A/1 TABWASHER, 1/4”S.S. 68
#CT-130A/2 TABWASHER, 3/8”S.S. 61
#CT-130A/3 TABWASHER, 5/8”S.S. 251
#CT-130A/4 TABWASHER, 5/16”S.S. 27
#CT-130A/5 TABWASHER, 1/2”S.S. 282

#CT-130A/7 TABWASHER, 3/4”S.S. 32
#CT-130D/1 TABWASHER, 5/8” 7
#CT-130D/3 TABWASHER, 7/8" 221

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494

www.patented-systems.com P 281-352-8588

F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ NUT #CT-138K/3

Part Number Description Qty. In Stock
#CT-138K/3 NUT, 1/2-20 TURBOFLEX 13
#CT-138K/4 NUT, 3/4-16 TURBOFLEX 12

COUNTER #CT-243/2

#CT-243/2 COUNTER, 1500 RPM HOURS 4

#CT-243A/2 COUNTER, 1800 RPM HOURS 3

¢ INDICATOR #CT-244H/4

#CT-244H/4 INDICATOR, TEMPERATURE 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

GAUGE #CT-251G/11 *

Part Number Description Qty. In Stock

#CT-251G/11 GAUGE, 0-1600 PSI1/0-110 BAR 7

¢ GAUZE #CT-3016/1

Part Number Description Qty. In Stock
#CT-3026/1 FILTER, GAUZE 1
#CT-3026/2 FILTER, GAUZE 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ MOTOR #CT-3019/101

Part Number Description Qty. In Stock

#CT-3019/101 MOTOR, STEPPER 2

HUB #CT-3026/1 *

#CT-3026/1 COUPLING, HUB 1

#CT-3026/2 COUPLING, HUB 2

¢ RETAINING KIT #CT-3035/1

#CT-3035/1 KIT, RETAINING 67

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

PROBE #CT-3036C/1 ¢

Part Number Description Qty. In Stock

#CT-3036C/1 PROBE, PROXIMITY 1

* MAGNETIC #CT-3039/2

#CT-3039/2 TRANSDUCER, MAGNETIC 1

BEARING #CT-3056 L 4

#CT-3056 BEARING, BOTTOM HALF 0
#CT-3056A BEARING, CT ROTOR 0
#CT-3074A/1 BEARING, 4INCH 3 LOBED 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



<Pl

&=

www.patented-systems.com

Hl PATENTED

¢ SEAL #CT-336E/1

SYSTEMS
INC.

Part Number Description Qty. In Stock
#CT-336E/1 SEAL, BAL, 3.5”"0D 44
#CT-336E/2 SEAL, BAL, 3.875”0D 39
#CT-336E/3 SEAL, BAL, 562" OD 18
#CT-336E/4 SEAL, BAL, .687" 0D 50

AMP METER #CT-4017A/10 ¢

#CT-4017A/10 AMP METER 0-25 AMP 3
* ARMATURE #CT-4017A/8
#CT-4017A/8 ARMATURE A-808 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494

www.patented-systems.com P 281-352-8588

F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

BEARING #CT-4017B/31 ¢

Part Number Description Qty. In Stock

#CT-4017B/31 BEARING, OIL LESS 11

¢ BEARING #CT-4017B/1

#CT-4017B/1 BEARING, THRUST 5

CLIP #CT-4017C/3 &

#CT-4017C/3 CLIP, RETAINING 14

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

B PATENTED
SYSTEMS
INC.

¢ DIAPHRAGM #CT-4017D/2

Part Number Description Qty. In Stock
#CT-4017D/2 DIAPHRAGM, VITON 0
#CT-4017D/3 DIAPHRAGM, VITON 1
#CT-4017D/4 DIAPHRAGM, VITON 1

FILTER #CT-4017E/1 L 4

#CT-4017E/1 CARTRIDGE, FILTER 0

L 4 FILTER #CT-4017E/10

#CT-4017E/10 CARTRIDGE, FILTER 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

FILTER #CT-4017E/16 ¢

Part Number Description Qty. In Stock

#CT-4017E/16 FILTER CARTRIDGE 4

L 4 CARTRIDGE #CT-4017E/26

#CT-4017E/26 CARTRIDGE 9

GROMMET #CT-4017G/4 &

#CT-4017G/4 GROMMET, NEOPRENE 7

¢ PIN #CT-4017P/2

#CT-4017P/2 PIN, VALVE 6

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ POTENTIOMETER #CT-4017P/40

Part Number Description Qty. In Stock

#CT-4017P/40 POTENTIOMETER, 10 TURN 10K 1

PIN #CT-4017P/60 @

#CT-4017P/60 PIN, VALVE 0

¢ SWITCH #CT-4017R/17

#CT-4017R/17 SWITCH, RELAY THERMAL EL.ST MT 7

“O”RING #CT-4017R/2 &

#CT-4017R/2 O-RING 98

#CT-4017R/41 O-RING 32

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

SPRING #CT-4017S/116 @

Part Number Description Qty. In Stock

#CT-4017S/116 SPRING, VALVE 2

* SWITCH #CT-4017S/130

#CT-4017S/130 SWITCH 16AMP 2

#CT-4017S/132 SWITCH, MICRO 4

SPRING #CT-4017S/136 &

#CT-4017S/136 SPRING 5

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ SEAL #CT-4017S/3

Part Number Description Qty. In Stock
#CT-4017S/3 SEAL, VALVE 0
#CT-4017S/32 SEAL 32

SPACER #CT-4017S/43 &

#CT-40175/43 SPACER, ROTOR BEARING 5

¢ SPRING #CT-4017S/67

#CT-4017S/67 SPRING, DIAPHRAGM 4

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

SPRING #CT-40175/72 &

Part Number Description Qty. In Stock
#CT-4017S/7 SPRING 2
#CT-4017S/72 SPRING 6
#CT-4017S/8 SPRING, VALVE 1

¢ RELAY #CT-4017U/2

Part Number Description Qty. In Stock

#CT-4017U/2 DAVENSET CONTROL RELAY 7

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ VALVE #CT-4017V/10

Part Number Description Qty. In Stock
#CT-4017V/10 VALVE 4
NEEDLE VALVE #CT-4017V/2 ¢ a
#CT-4017V/2 VALVE, NEEDLE 5

L 4 NEEDLE VALVE #CT-4017V/3

#CT-4017V/3 VALVE, NEEDLE 1

TUBE #CT-4017V/i6 &

#CT-4017V/6 TUBE 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. )

T—

P>

-
VOLTMETER #CT-4017V/8 @ %

-

Part Number Description Qty. In Stock

#CT-4017V/8 VOLTMETER 0-50V 1

* WASHER #CT-4017W/14

#CT-4017W/14 WASHER, FIBRE 12

WASHER #CT-4017W/43 &

#CT-4017W/43 WASHER,WAVE 1

¢ PROJECTOR #CT-4017X/26

A

#CT-4017X/26 PROJECTOR, AMBER 4

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ PROJECTOR #CT-4017X/27

Part Number Description Qty. In Stock

#CT-4017X/27 PROJECTOR, RED 9

TOOL #CT-4017X/39 &

#CT-4017X/39 TOOL, LONDEX 1

L 4 LAMP #CT-4017X/4

#CT-4017X/4 LAMP, 24VDC MES 40

TRANSISTOR #CT-4017X/40 L

#CT-4017X/40 TRANSISTOR 1

#CT-4017X/42 TRANSISTOR 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

CARD #CT-4017X/7 ¢

Part Number Description Qty. In Stock

#CT-4017X/7 CARD, ALARM WARNING 1

¢ MICROSWITCH #CT-436A

/
S A
#CT-436A MICROSWITCH, OVERSPEED TRIP 5
COUPLING #CT-461B/5 @
#CT-461B/5 COUPLING ELEMENT 4

4 WASHER #CT-464/1

#CT-464/1 WASHER, 5/8” CENTRALIZING 4

#CT-464/2 WASHER, 7/8” CENTRALIZING 15

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

L 4 RETAINING RING #CT-466/10

g

Part Number Description Qty. In Stock
#CT-466/10 RETAINING RING, .049 X 3" 227
#CT-466/5 RETAINING RING, .049 X 2.5” 7
#CT-466A/1 RETAINING RING, .043 X 1-1/8" 88
#CT-466A/10 RETAINING RING, .049 X 1-1/2" 25
#CT-466A/8 RETAINING RING, .043 X 1.19” 158

HUB #CT-474G/11 L 4

#CT-474G/11 HUB, COUPLING 1
#CT-474G/12 HUB, COUPLING 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
SYSTEMS
INC.

www.patented-systems.com

PIN #CT-508/1 L 4
Part Number Description Qty. In Stock
#CT-508/1 PIN, SILVER STEEL 1

¢ SEALINGRING #CT-596

#CT-596 SEALING RING, 5/8" 1
#CT-596A/1 SEALING RING, 1/4” 6
#CT-596A/2 SEALING RING, 3/8" 19
#CT-596A/3 SEALING RING, 1/2" 4
#CT-596A/5 SEALING RING, 7/8" 3
#CT-596A/6 SEALING RING, 1” 45
#CT-596A/8 SEALING RING, 1-1/2" 28

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com

P 281-352-8588

F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

L 4 CONNECTOR #CT-602/2

Part Number Description Qty. In Stock

#CT-602/2 CONNECTOR 3

SPRING #CT-603/3 &

#CT-603/3 SPRING, FERRULE 0

€ NUT #CT-603/4

#CT-603/4 NUT 46

INSULATOR #CT-603/6 @

#CT-603/6 INSULATOR, CABLE SLEEVE 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
SYSTEMS
INC.

www.patented-systems.com

CONNECTOR #CT-603/7 ¢
Part Number Description Qty. In Stock
#CT-603/7 CONNECTOR, BULKHEAD 0
‘ﬂ‘
-
¢ ELBOW #CT-603/8
#CT-603/8 FITTING, ELBOW 18
SEAL #CT-649/1 L 4
#CT-649/1 SEAL,.156 X.312 X .563 0
#CT-649/2 SEAL, .200 X .500 X .828 0
#CT-649/3 SEAL, .187 X.750 X 1.000 12
#CT-649/4 SEAL, .187 X .625 X .875 20
#CT-649/5 SEAL, .156 X .250 X .500 129
#CT-649/6 SEAL, .156 X .375 X .650 34
#CT-649/7 SEAL, .156 X .250 X .500 10
#CT-649A/1 SEAL, .250 X 3.000 X 3.500 66

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494

www.patented-systems.com

P 281-352-8588

F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

4 DISCONNECT #CT-651/1

Part Number Description Qty. In Stock

#CT-651/1 DISCONNECT, FEMALE BATT. QUICK 1

DISCONNECT #CT-651/2 ¢

#CT-651/2 DISCONNECT, MALE BATT. QUICK 1

L 4 SHIM #CT-839X/5

#CT-839X/5 SHIM, .0098 X 1/2X 7/8 9
#CT-839X/6 SHIM, .015 X 2.26 X 2-15/16 80
#CT-839X/7 SHIM, 1/16 X 2.26 X 2-15/16 41

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

SADDLE BOSS #CT-894B/46 ¢

Part Number Description Qty. In Stock

#CT-894B/46 BOSS, SADDLE, 1-1/2TU X 3-1/4 2

¢ COUPLINGDISK #CT-903E/101

#CT-903E/101 COUPLING DISK 2

CAPACITOR #CT-91005/7 L 4

#CT-91005/7 CAPACITOR, CHASSIS 6 3

/ & DIODE #CT-91006/4

#CT-91006/4 RECTIFIER DIODE 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢  REED #CT-91007/1

Part Number Description Qty. In Stock

#CT-91007/1 RELAY, REED 17

RELAY #CT-91007/15 L 4

#CT-91007/15 BOARD, RELAY 14

¢  RELAY #CT-91007/3

#CT-91007/3 RELAY 1

LAMP #CT-91008/2 &

#CT-91008/2 LAMP, FLAME VIEWING 29

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

LAMP HOLDER #CT-91010/16 ¢ ' ~
Part Number Description Qty. In Stock
#CT-91010/16 LAMP HOLDER, AMBER 15
¢ MAINS #CT-91011/4
#CT-91011/4 TRANSFORMER, MAINS 4

MAINS #CT-91011/5 @

#CT-91011/5 TRANSFORMER, MAINS 2
T
. , ﬂ ¢ FUSEHOLDER #CT-91012/15
#CT-91012/15 FUSE HOLDER, 20MM 183

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ FUSE #CT-91012/19

‘ y £
Part Number Description Qty. In Stock
#CT-91012/19 FUSE,5/8” CARTRIDGE 500 MA 20
#CT-91012/33 FUSE, 2.5 AMP, 20 MM CARTRIDGE 3
#CT-91012/70 FUSE, 3.15A 3

CIRCUIT BREAKER #CT-91013/40 ¢ %Q

#CT-91013/40 BREAKER, CIRCUIT 1

L 4 CRIMP #CT-91014/11

#CT-91014/11 SOCKET, CRIMP 12
#CT-91014/13 SOCKET, CRIMP 29
#CT-91014/15 PIN, CRIMP 67

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

I
SOCKET #CT-91035/104 L 4 m
Part Number Description Qty. In Stock
#CT-91035/100 SOCKET, INSULATED, BLACK 7
#CT-91035/104 SOCKET, INSULATED, RED 9
¢ STOPPER #CT-91048/3
|
#CT-91048/3 GLAND, STOPPER 9
Y
VALVE #CT-91205 & A &
#CT-91205 VALVE BASE 6
- 2 SWITCH #CT-91614/8
#CT-91614/8 SWITCH, 4 POS KEY OPERATED 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

* ELBOW #CT-941F/2

Part Number Description Qty. In Stock

#CT-941F/2 ELBOW, FITTING 12

IGNITION #CT-941F/3 &

#CT-941F/3 INSULATOR, IGNITION 76

¢ BUTTON #CT-941F/4

#CT-941F/4 CONTACT BUTTON 10

GAITER #CT-977/1 ¢

#CT-977/1 GAITER, 5/8 X13/16 66

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

BELLOWS #CT-977A ¢

Part Number Description Qty. In Stock

#CT-977A BELLOWS 17

¢ VACUUMKIT #RPP-70

#RPP-70 KIT, SLAMSHUT VALVE 1

REGULATOR #RPP9 L 4

#RPP9 KIT,REPAIR IGNITER REGULATOR 2

¢ PAD #SP028834

#SP028834 PAD,THRUST, L/H, SET OF 6 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

L 4 CONTACTOR #TA-03106A

Part Number Description Qty. In Stock

#TA-03106A CONTACTOR, AUX. MOTOR 1

TRAP #TA-04331C ¢

#TA-04331C TRAP, LIQUID DRAIN TRAP 1

* FILTER #TA-05202A

#TA-05202A ELEMENT, FILTER 7

FILTER #TA-08178 ¢

#TA-08178 ELEMENT, GAS LINE FILTER 13

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. N

FILTER #TA-08192/1 L 4

Part Number Description Qty. In Stock

#TA-08192/1 FILTER ELEMENT 9

€ BEARING #TA-1201B/1

#TA-12013/1 BEARING TOP HALF 4
#TA-12013B/1 BEARING, TOP HALF 15
#TA-12013B/2 BEARING, BOTTOM HALF 15

PAD #TA-12028/3 ¢

#TA-12028/3 PAD,THRUST,L/H 13

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

4 DISTANCE PIECE #TA-12049A/3

Part Number Description Qty. In Stock

#TA-12049A/3 DISTANCE PIECE 26

PLUG #TA-23119 ¢

#TA-23119 PLUG, IGNITER 3

4 BOLT #TA-31013

#TA-31013 BOLT, ROTOR 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC. )

BEARING #TA-32015A/1 L 4

Part Number Description Qty. In Stock
#TA-32015A/1 BEARING, TOP HALF 5
#TA-32015A/2 BEARING, BOTTOM HALF 5

¢  BEARING SHELL #TA-32615

#TA-32615 BEARING SHELL 17
RING #TA-32625/1 & ﬂ
#TA-32625/1 HALF RETAINING RING 8

¢ PAD #TA-32625/2

#TA-32625/2 PAD, THRUST, R/H 7

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



www.patented-systems.com

Hl PATENTED
SYSTEMS
INC.

¢ BLADE #TA-33604W

Part Number Description Qty. In Stock

#TA-33604W BLADE, 2ND STAGE PT LH LOCATED 22

SEAL #TA-51119A ¢

#TA-51119A GOV. LIP SEAL, GACO DE 300 85

* ASSEMBLY #TA-54117E

#TA-54117E SERVO BELLOWS ASSEMBLY 4

GEAR #TA-64019A ¢

#TA-64019A GEAR, GOVERNOR DRIVE 1

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



Bl PATENTED
SYSTEMS www.patented-systems.com
INC.

BEARING #TA-64021B ¢

Part Number Description Qty. In Stock
#TA-64021B BEARING, CARDEN SHAFT 4
#TA-64021B/1 BEARING, CARDEN SHAFT TOP HALF 23

¢ SHAFT #TA-64021B/2

#TA-64021B/2 BEARING, CARDEN SHAFT BTM HALF 25

BEARING BUSH #TA-64193 ¢

#TA-64193 BEARING BUSH 2

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080



B PATENTED
www.patented-systems.com SYSTEMS
INC.

¢ CONE #TA-82102C

Part Number Description Qty. In Stock
#TA-82102C CONE, DIFFUSER 1

BEARING #TB-12015/1 ¢

Part Number Description Qty. In Stock
#TB-12015/1 BEARING BUSH, TOP HALF 5
#TB-12015A/2 BEARING, BOTTOM HALF 0

Part availability as of August 2020 but subject to prior sale. Part condition is new unless otherwise stated.

25923 TINA LANE « KATY TX 77494  www.patented-systems.com P 281-352-8588 F 501-694-3080





